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1. Options shown in green color with a tick icon are correct

2. Chosen option on top right of the question indicates the option selected by the candidate

Q1 Find the next term of the series:
BDCA, FHGE, JLKI, ?
AT T 33Tl 96 ATd HIfoIT:
BDCA, FHGE, JLKI, ?
Ans X 1. MINPO
2 2. ONMP
o 3. NPOM
X 4. MONP

Question ID :9888374826
Status : Answered
Chosen Option : 3

Q.2 I TENCPRRARY af widlen s RFSIOAETRY Shed FERSUANENT 0
ufy TEMPORAARY ® APMOAFTRY Tiam @ B i PERMANENT 43 &3y b
=TT

Ans  of 1. NMRAEEPNT
& 2. MNREAEPNT
X 3. AMRNEEPNT
X 4 REANMEPNT

Question ID : 9888374830
Status : Answered
Chosen Option :1

Q3 ?: Clock :: Temperature : Thermometer
? - G131 - ATIHT - YHATHIEY
Ans
X 1. Wall

Time
2.
v oHT

Pendulum

X3.§

Anal
X 4 o8

e

Question ID :9888374820
Status : Answered
Chosen Option : 2

Q.4 Whick =f the followms contuss the World s lasgeat area of euagsove foreal?
Frg & #vaim ool o0 @aw gEn e T & & whran #2

Ans Namdapha National Park
1.
STHGIHT TSI 3Tl
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Question ID : 9888374741
Status : Answered
Chosen Option : 4
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+ - Rann of Kutch

2.
" HTh ol 0T
x Balphakram National Park

3.
" Spndarhans([@lr 3t

Holddd

)

Q.5 Whst will B tha ot gilsr trhkchs nlien doabled, will e saectly diveadide by 4, 6,9, 12 ad 147
2 eTA-mh drer slah § R |5|'|I.:|| == e R R T TR 4 |[|;l-,.-| Question ID :9888374792

THTAA 1 AT Status : Answered
Ans o 1 126 Chosen Option :4

X 2.252
< 3.504
X 463

Q.6 A question and three statements labeled (I), (II) and (III) are given.
You have to decide which statement(s) is/are sufficient to answer the

Question ID : 9888374856
Status : Answered
question. Chosen Option : 4

Question: Who is the shortest among P, Q, R, S and T?
Statements:
I. P istaller than T but shorter than S.
II.  Q is shorter than R but taller than T.
III. S istaller than R and P is taller than Q.

Select the right option from the following.
A v s IR @ @A (1), () () fBw oaw #)
Al Ag R oar § 6 9 #1 3l & & fav &la-
giAta-g s gaeg 25
e P, Q, R, S 3R T # wa@ oler &l g2
HYe
. P T3 dar faeg S & oleT 81
I. QR & oler feg T & et 81
. SR @& eerg 3t P Q3 @ gl
forafaf@a & ¥ wd RFea g
Ans Only statement I is sufficient.
" e Fo | qaTeT gl
Only statement I1T 1s sufficient.
" e ot Il e 2
v 3.

Statement II and either I or III are sufficient.

o || 3T ar & shaer | a1 Fae Il 9aeg g
x4 Both I and IIT are sufficient.
1 3 I g gatea €

Q.7 [Ietenurionl Toonst Burema facility of lefin Rednegs o oot svailsbde at Q
uestion ID : 9888374783
mmmmnﬁmymu I TUE=T A
A ) " Status : Not Attempted
ns K 1 Chennai Chosen Option : --
v Thiruvananthapuram
2. i:l: -
s )
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Secunderabad

GETRIGIA

Bengaluru
4.

EEIGES

]

K3

Q8 15 the name of an Indian Light Combat Aircraft.
Ush AR Goh CISIh (@A &I A F)
Ans Chetak

x1f]?ﬁ?

Tejas

Question ID : 9888374770
Status : Answered
Chosen Option : 2

Q.9 1 e pomment OF Hlirmion lechirddogy, The prodis & anishimig: bng. pre-duarting diclares
i eder W ey i e Pl diforoling, o eefrrsd s
B RTITER § WO A ST EeEl KA A F A § e 4
tm s dtn Summ At spwmT

Ans simulating
1

f a; )
mining
o
Argfeiar
resourcing

RS IIE: )

hewing

o

53

F

Question ID :9888374773
Status : Answered
Chosen Option : 2

Q10 Which one of the following operations will result in 267
=8 ® g dfpar &1 afiona 26 g
Ans  of 118 x 16+ 12— 11+ 13
X 218+16-12x11+13
X 318+-16+12—11x13
K 418-16x12+11+13

Question ID : 9888374833
Status : Answered
Chosen Option :1

Q.11 A car coven & -cerian daiecy 128 bours st 2 apaed of 50 kaph. Wial koul ba e acrwase
g 1 fot/r e wii drsliae d oo 3 b
ek T v e adt o Seadtore o aeer @ 5 g A et by ph v et s et Ao

AT i TR e R A W R h i

Ans
x 1 50 kmph _
50 fersT/geT

40 kmph

40 fpe/eer
30 kmph

30 fapaf/eer
80 kmph

80 Fraf/eEer

Question ID : 9888374806
Status : Answered
Chosen Option : 4

Q.12
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Towin bniin 3 ] Y Bonrva fioen thar s b el oy o el e kit ) el 0 01 bl
aid 5B hpiph reagectively. Bud, Y Jeitves @ hiostis after o bas 180 Hea S fos e saitieg plies
il il bunes meet?

TN Y oF T F TR e O e 0 TR O i w e am e
mertft B i ¢ a0k e ik 8 v aer wendt 8 wpeoenft wane ot el gt o S ad
Ans seis. 100 km

s 100 ferafY
200 km
vz 200 &Y
150 km
xa 150 fepaf
300 km
ot 300 fraY

Question ID :9888374805
Status : Not Attempted
Chosen Option : --

Q.13 A senicdd Wad piecRabid i ety stadkel o8 diffasedt dancs ol o e peed of (B 11
i Ee 8 fmil B Bl {0 Rs 10, 10wes sold ot B, §abeds Be i b= praee Whiech szl
e 158 D0l il LN o i o Rl
ToF AP AT B0 g = TRl 0T () B 18, ) B 9, ) Bsc B 5700 ol Re A0

i et wdv ot W R e e 2 e wpe s v aie ot e

Question ID : 9888374813
Status : Answered
Chosen Option : 3

HHF o T ]
ans X1 (@)
X 2. (i)
v 3. (iid)
K 4 (@)

Q14 Tyndall effect is related to the of light.
fevser 9o geTer & T gafaa g

Question ID : 9888374769
Status : Answered
Chosen Option :3

Ans Reflection
r 0
A
Scattering
2.
BEAIE
Dispersion
gfyaraor
Refraction

HTade

v
K3

X 4

Q.15 The LOM oo werber 4% T waenbers wem i tha iz | E_Tl'ilu:lur!hm =

£
sremrtera et st aree 10 b senataadin R

Ans x 1. 60

Question ID : 9888374791
Status : Not Attempted
Chosen Option : --

v 2 40
X 320
X 445

Comprehension:
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Year Division

W X Y Z
2010 100 96 110 136
2011 130 134 114 108
2012 140 144 164 96
2013 86 112 76 80

feia frar g
a¥ B
w X Y Z
2010 100 96 110 136
2011 130 134 114 108
2012 140 144 164 96
2013 86 112 76 a0

the lowest?

w87

Ans ?{\'1. Y
X 2w
W3z
X4X

SubQuestion No : 16

Q.1 The combined sales figures in 2011 and 2013 of which division was

frw f3diea & 2011 3R 2013 & dyaa R s @ed

Qp (4).html

The following table represents the number of items sold by four

divisions of a consumer goods dealer during 2010 to 2013.

firafef@aa arfesr # 2010 |@ 2013 &1 afd & ghua s
FUHIFAT aFd Ste’ & gR Sdierel qarT S°l a8 aeg3il &l

Question ID :9888374850
Status : Answered
Chosen Option : 3

Comprehension:
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Year Division

W X Y Z
2010 100 96 110 136
2011 130 134 114 108
2012 140 144 164 96
2013 86 112 76 80

feia frar g
a¥ B
w X Y Z
2010 100 96 110 136
2011 130 134 114 108
2012 140 144 164 96
2013 86 112 76 a0

SubQuestion No : 17

Ans 4’1_:{
X2z
X3y
X4 w

Q.1 During 2011, which division performed better comparatively?

2011 & giue e fSdieie &1 Yeeie 3T9aTda dgal 17

Qp (4).html

divisions of a consumer goods dealer during 2010 to 2013.

The following table represents the number of items sold by four

firafef@aa arfesr # 2010 |@ 2013 &1 afd & ghua s
FUHIFAT aFd Ste’ & gR Sdierel qarT S°l a8 aeg3il &l

Question ID :9888374852
Status : Answered
Chosen Option :1

Comprehension:

C:/Users/Nikhil/Downloads/Qp%20(4).html
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The following table represents the number of items sold by four

divisions of a consumer goods dealer during 2010 to 2013.

Year Division
W X Y Z
2010 100 96 110 136

2011 130 134 114 108
2012 140 144 164 96
2013 86 112 76 80

HrafeRaa arfersr & 2010 & 2013 &1 Fafs & aloa &
FUHIFAT aFd Ste’ & gR Sdierel qarT S°l a8 aeg3il &l
fasfaa fear T g

a¥ B

w X Y z
2010 100| 96 110 136
2011 130 134 114| 108
2012 140| 144| 164| 96
2013| 86 112 76 80

SubQuestion No : 18

Q.1 What is the ratio of total number of items sold by Y in 2012 and )
8 _ ) Question ID :9888374851
2013 to that of Z in the same period? Status - Answered

2012 vd 2013 # Y c@rr o7 15 a&d3il &1 el dEar $1 Chosen Option :1

S QI Z qarr o< 918 et B Fol @& ¥ e
T 87

Ans of 1.15:11

K 211:16

K 311:15

X 416111

Comprehension:
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The following table represents the number of items sold by four

divisions of a consumer goods dealer during 2010 to 2013.

Year Division

W X Y Z
2010 100 96 110 136
2011 130 134 114 108
2012 140 144 164 96
2013 86 112 76 80

feia frar g
a¥ B
w X Y Z
2010 100 96 110 136
2011 130 134 114 108
2012 140 144 164 96
2013 86 112 76 a0

SubQuestion No : 19
Q.1 What is the average number of items sold by division W during the
four years?
UR gyl $1 3t & g W iSdiere garn ddr oS awgsil
#1 o dwar Far g7
Ans X 1.116.5
X 2.118
W3 114

X 41215

Q.20 Meera 1s the wife of Sachin. Sachin’s sister 18 Sarda and she 1s the
wife of Arjun. Arun 1s the son of Sarda. Arjun 1s the brother of
Meera. Sonali 1s the daughter of Arjun. How 1s Arun related to
Sonali?

#RT Wi 1 ued &) afed #1 @ aReT § 3K a8 el
@ Ueell §1 3FUT ARG HT deT g1 ol HART FT A5 2
HeTel 3ol 1 JET 1 3901 WieATel H1 AT §7
. Father
2<1'ﬁﬁﬂ
Brother

S

Cannot be determined

3'ﬁ#ﬂﬂiﬁ'ﬂé11ﬁnn'aﬂ Hhdl ¢

Ans

Y

x

/lIC:/Users/Nikhil/Downloads/Qp%20(4).html

firafef@aa arfesr # 2010 |@ 2013 &1 afd & ghua s
FUHIFAT aFd Ste’ & gR Sdierel qarT S°l a8 aeg3il &l

Question ID :9888374853
Status : Answered
Chosen Option : 3

Question ID : 9888374836
Status : Answered
Chosen Option : 2

Downloaded From : www.sforstudy.in
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Paternal uncle
4.
x GBI

Q.21 A el W sl 0 8 nrple mae o mkeda ik R 5 pees 0 canld ke Tekched B 500 ]
e bl i bty Lol il 29 b et pale Wliat wias thee iiicdad! vesiat? Question ID 19888374809
TR = T AT A ST IO S e R T (R AR 0l A # T Status : Answered
e ped s e s oo vk B o md ane Peewh ol Chosen Option : 2
Ans Rs. 3300
1.
x ¥, 3300
« 5 Es. 3000
®. 3000
Es. 2000
3.
x ¥, 2000
Es. 2300
4,
x ., 2300

Q.22 - - ie -
Book - Author :: Movie : Question ID : 9888374835

W CICE O F\E'ﬁ?:ﬂ : Status : Not Attempted

Ans x ] Producer Chosen Option : -
IGE IR
X2 Editor
qrcen
Director
v &)
IGGED
Master
4.
x HIECT

Q.23 P i mives Eater e O m gm0 Tikes 17 reoes s S P60 Tl (e gl 1 thay ]
wial R e, L Beorw iy e Wl The Woelk Ve Giibed? Question ID : 9888374803
PORF A # G H A IR R N R e R TR A G P Status : Not Attempted

o ww dn e oy & gt o s e o B ot e Rttt e o Chosen Option : ==

Ans

5§days
6 fet
?%da};s
72 fe
?%days

72

F R

7 é days

o 4
?iﬁ?r

Q.24 Find the area of a square whose diagonal s half of 12cm. i
Question ID :9888374799

U 931 T &1A%d I1d FIT foger Aot 12 T &1 3mar g: Status - Answered

Ans 18 sq.cm. Chosen Option :1

J1'1sa?‘r@m’r

64 sq.cm.

2.
64 3T TAT
36 sg.cm.

> 36 gat gAY

x

x

filel//IC:/Users/Nikhil/Downloads/Qp%20(4).htm| Downloaded From : www.sforstudy.in
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72 sq.em.
<

1 GEIR:E:}

Q.25 ino 1 i i
‘Who among the following is NOT an international golfer? Cuestion ID :9883374748

m=ef@a & 9 =i FHSe Tew T@aEr B é‘? Status : Answered

Ans Shiv Chawrasia Chosen Option :3

X" e e
Jason Day

"o 3

, Michael Bevan

HISF ga+

. Anirban Lahiri

ifeETa afgsr

v

x

Q.26 Ifcostprice o 35% of the selle=g price, what is the prodit margin in pescentage? ]
Question ID : 9888374814
T & T T T & 554 8, A AT airerd S gt
Status : Answered

Ans X' 1.187.51 % Chosen Option :1

X 2.183359%
W 318571 %
X 418175 %

Q.27 Classification of Public or Private sector is based on the:

araatas ar @Sl st &1 aeffetor sa smaR 9v fear S §:

Ans Service conditions of employees

Question ID : 9888374736
Status : Answered
Chosen Option : 4

>
FHATET 6T Jar erd

Number of persons employed

z'mmﬁm’rﬁm

x Nature of activity
3.

afafam f g
v Ownership

AT

x

Q.28 11 15e8"
Prasar Bharati 1s an autonomous body that comprises: Question ID :9888374737

ERIRY SIIEEII Ueh Edldcd ﬁm % ﬁlﬂﬁ? 3“”&' T %5 Status : Answered
Ans AIR, Doordarshan and BSNL Chosen Option :2

x1'3ﬁﬂgﬁmi‘@m’n e 3 divavsve
both ATR. and Doordarshan
V7 st gt Y 3R gt ae
AIR (All India Radio) only
" b siter s YA
Doordarshan only
F 3 et Eg_cﬁi?[

Q.29 Which mne of the Sallnwing opiicns mail spprepristeh daeenbes ObsnaC s ]
fraa @ # S TR HaEET # aaE T5 S ofnnlE T 3 Question ID 19888374738

T Status : Not Attempted
Ans Cost of hospitalization P

. Chosen Option : --
FEqdrel # Adf gl T dErd

filet//IC:/Users/Nikhil/Downloads/Qp%20(4).html
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‘,. ) Affordable medical care
frmrRdr e d@ar

Abolition of medical insurance

3.~ -

Free medical care Jedeled
4.
HUd FEES e

Qp (4).html

Q.30 CarFoovens mcerian drimce [ beos ot o spewd of 86 oeph. Car ) coves 242 us mow
o P o e same b, Fard the average spessd of Coar O
e o TP o o o Peor oy e 1 ot oF ovr et ) e o R e
I R e dar BT R o A ot B g o e e o ST

Ans
?<1_?18knqﬂ1_
718 fRedgeT

77 kmph
77 TepHlger
88 kmph
88 fpAET/ECT
83 kmph
83 ferdTHeT

X 2.
v 5

X 4.

Question ID : 9888374804
Status : Answered
Chosen Option : 3

Q31 “YouthSat’ referstoa
TRIT RS |
Ans Youth website
><1'ZEH de TS

Satellite
2.
J J4dlg

Weekend party

- goaTgia aref

. Motion picture
fhed

X3

X

Question ID :9888374777
Status : Answered
Chosen Option : 2

Q.32 Jipmn s Pk pris- 056" for ourstaadig cooimlaon rowanls South Amed raditmal Ao

A1 b & i WA e e
@ ofirmE wigfe wan Sdte & seeefm deem il af s o area

FERI ERRT W T

Ans x 1 Amit Trivedi
fAa BEdr
Shankar Mahadevan
x

2. .
FT HEIaT
x 3. Yasmeen Lan
rEAE T
A R_Rahman
v
T AN, {gHMA

Question ID : 9888374761
Status : Not Attempted
Chosen Option : --

Q33 Find the mean of the distribution:
130, 90, 25, 77, 250. 100
§ce &l ATEY AT HIfAT:
130, 90, 25, 77, 250. 100
Ans ' 1 75
X 2.77
X 3.100

/IIC:/Users/Nikhil/Downloads/Qp%20(4).html

Question ID : 9888374819
Status : Answered
Chosen Option : 4

Downloaded From : www.sforstudy.in
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Q.34 An agsertion (A) and a reason (R) are given below.
Assertion (A) : Urban India 1s sicker than rural India in spite of
better healthcare facilities.
Reason (R): Urban life is facing the problems of mncreasing
pollution levels, unhygienic garbage dumping, and a fast food
culture.

Choose the correct option.

At Fua (A) 3’ vH FROT (R) @ mar g

AT 9RA 1 gerer # 31faF AR B

& FHAT T 95 T 8
e fawew g
Ans B 1

A 13 true, but R 13 false
2.
A EcT g, feq R 310 &
A is falze, but R is true
3. .
A e 8, fed R 8T &
v 4.

A 3R R gl @ § 3R R A & 881 SRT §

Question ID :9888374854
Status : Not Attempted
Chosen Option : --

FUA (A) : dgaN TA YRGBT & dEeg Al ARG

ROT (R): 64 Sfiael I 9qU0T & a¢ gU T, FEARLTRT
alish ¥ F9U $F A6, I’ BRe §5 AERfd ol et

Both A and R are true, but R 1s not the correct explanation of A
A R R gFl & &, Breq R A T ®81 SROT 7181 &

Both A and R are true and R is the correct explanation of A

C:/Users/Nikhil/Downloads/Qp%20(4).html

Q35
Solvefor‘a®: _7 _ 5 Question ID :9888374815
a—2 a+4 Status : Answered
P 1 7 5 Chosen Option :3
a' & A A Fifae: L =2
a—2 a+4
Ans 4’ 1. 19
X 238
X 319
X 438
Q.36

Question ID : 9888374844
Status : Answered
Chosen Option : 3

Downloaded From : www.sforstudy.in
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A statement followed by some conclusions is given below.
Statement: Eating nutritious food is the only way to keep the doctor
away.
Conclusions:
I.  Doctors will be out of job soon.
Ans 11 ;Only conclusion I follows tt of doctors.

1.
rwo wighgel [y | YTefel @il g lollows from the
given st Both I and II follow

Lot AR Il et et awg & 7 ©

U ENeither I nor II follows  [15¢ Tigd

uiﬁaaﬂlaallmﬂam§

ﬁ'!;!?*: Only conclusion IT follows
4,
v UFad vy || 9T AT

e ], STl & UK &1 U HET Fid ol DS ¢l

Q.37 Which number will replace (?) in the following series? )
Question ID :9888374824
4,5,8,10, 12,15, 16,20, 2,25, ....... Status : Answered
AwFafefad spaen & (?) & €O 9 Fla-A qEAr JE? Chosen Option :3

4,5,8,10,12,15,16,20,2,25, .......
Ans X 1.24

X 221

v 3 20

X422

Q.38 What is the fourth proportional to 15, 12, and 20. Question ID - 9888374793

15, 12, 20 ST IJATHAITT FT 2 Status : Answered
Ans K 114 Chosen Option : 4

X 212
< 3.18
NN

Q.39 The Goremumest confemad Droras e Avard 20506 for Grmasstics i ]
W A FEmAterE & R ek 2006 & genmd qrens @ aoais e Question ID : 9888374760

Status : Not Attempted
Ans
?‘\ 1. Sagar Mal Dhaj,ra.l Chosen Option : --
HMEIL Hel gdlel

~ Raj Kumar Sharma
AR FHR AHT
~ Nagapuri Ramesh
Py =ATg{r T
v Bishweshwar Nandi
faredeay A=l

Q.40 Rearrange the jumbled letters to make a meaningful English word
Question ID :9888374845

and then select the one which s different.
Status : Answered

fGu v sregaifud 3Rl & gaeddiiyd #ih 344 drdE

Chosen Option : 2
3N ersq FAE| R 3991 & 98 e g Y 3w A e 8

Ans X 1. OLYGBOI
W 2. AEVLTR
/X 3. YCEIHRTSM

filel//IC:/Users/Nikhil/Downloads/Qp%20(4).htm| Downloaded From : www.sforstudy.in
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X 4. HISCYPS

Q41 B and C are husband and wife respectively. M is the father of K and
C. How 1s B related to M?
B 3iX C s#emn: qfa 3R 9t §1 M K 33X C &1 far 81 B
M T F4T g7

Ans Uncle
1.
x T

Xz.%ﬁ;n

Son-in-law
3.
v alHlg
Brother

x4a¢|é

Question ID :9888374837
Status : Answered
Chosen Option : 3

Q42 i U ~wonfk S i e i o chere Dol D e powla b B GRenE s
ﬁrﬁi‘t_mni‘hidﬁtz_ﬂimu mtnhlhmml\pﬂlmi'

wm b

Ans "1 Potential difference
Frargi
Current
2.
x T
x Power

3.
SIEG]
x4 Resistance

gferrer

Question ID :9888374764
Status : Answered
Chosen Option :1

Q43 The ‘Rann Utsav® is a festival celebrated in:
TOT 3cHa’ TgI AT Al o
Ans v Guyarat

e}

) Himachal Pradesh
fgHTTe goEr
N Rajasthan
ME RG]
Madhya Pradesh

4.
He gear

<
x

x

Question ID :9888374745
Status : Answered
Chosen Option :1

Comprehension:

filet//IC:/Users/Nikhil/Downloads/Qp%20(4).html
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Consider the following information and answer the questions

based on it.

In a building, 30 people drink only coffee, 40 drink only tea, 25
drink both tea and coffee, 20 drink both tea and milk and 15 drink

all the three — tea, coffee and milk.

farafafaa st | fEr #¥ 3k 39§ smarR @ weat
& 3eal I

U Iqad A 30 T hdel Hihl 9id §, 40 Shad 9T 91T &,
25 =g 3R FIHr el did §, 20 = 3R gy ael 9d §
31X 15 @Rt el 97 (3, i iR g did &)

SubQuestion No : 44
Q.4 The number of people who drink only coffee 1s than
4 S—

Question ID : 9888374847
those who drink all the three (milk, tea & coffee). Status : Answered

shael Il 9 drel dEl T TEAar di| o9 (qg, 9 3T Chosen Option : 4
TR e e T 3
Ans - 15 less
1.
" 10 &
X 2 20 less

20 &H
5 more

5 3ifaw
15 more

4.
15 31fes

Comprehension:

Consider the following information and answer the questions

p

v

based on it.

In a building, 30 people drink only coffee, 40 drink only tea, 25
drink both tea and coffee, 20 drink both tea and milk and 15 drink

all the three — tea, coffee and milk.

frafafaa st | fEr &Y 3k 39§ smaR @ weat
& 3eal §I

U g A 30 ol hael HIHI did §, 40 shael g 9d g,
25 =g 3R FIBr el did §, 20 = 3R gy ael 9id @
I 15 @01 el 97 (I, 6 3R gy) 9 g

SubQuestion No : 45
Q.4 What is the difference between the number of people who drink tea )
Question ID :9888374848

5
and those who drink coffee? Status : Answered
g 9=t aret 3 St 9o arelt Fr gEar & d=g w1 Faw Chosen Option 3

T 87
Ans K 1. 70
X 2.10
W 330
X 440

e///C:/Users/Nikhil/Downloads/Qp%20(4).html Downloaded From : Www.sforstudy.in 15
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Q.46 50 pisivi of o waal boe 23 aidiis 0 Caslers wfd 30 piadii oF ol ook How mais i of
coibedi gl aldioinds, pespetively , Wil e theaes b 3500 gk of des s Saeer® Question ID :9888374796
ok T R 250 T A 20 BT R AT 20 T g ) 58 TR R 10 e AT A Status : Answered

=g M7 e e fer m e Chosen Option :1

Ans
" 28 and 42
28 3T 42

21 and 28

21 3T 28

40 and 60

40 3T 60
x4 25 and 45
25 3T 45

> 2.

X 3.

Q.47 A question and three statements labeled (I), (II) and (III) are given.
You have to decide which statement(s) is/are sufficient to answer the

Question ID : 9888374857
Status : Answered
question. Chosen Option :1

Question: What is 40% of a number?
Statements:
I 25% of the number i3 60 less than the number.
II.  20% of the number 13 an even number.

III. 5% of twice the number is 11—0"' of the number.

Select the right option from the following.

A uw e 3 e wuer (1), () 3 () Br oaw #
T g Aot o & & 9 @ e} o & fau sl
gpla-g wud gaea 2

WeeT: Ueh T&AT & 40% AT §7

YA

I. 3% @& F1 25% 39 & ¥ 60 FH F

Il.  3od §&AT #T 20% TH GF &1 ¢l

M. Wma?aﬁ?lﬁﬂﬁ%ﬁmﬂﬁgl
frafafea # @ wf fawew T

Ans v Only T 1s sufficient.
1.
haer | gaea 2
x Both IT and IIT are sufficient.

2.
Il 3t 1l gt gaea &)
> 3.
Statement IT and either I or III are sufficient.

Fore 1l 30T a7 ar Faa | a1 Faa Il waiea &
Only IIT 15 sufficient.

* et 11 qaTed 2l

Q.48 i 1 iti
13 NOT a mode of heterotrophic nutrition. Question ID : 9888374771

g8 it & U ggia Bl %’I Status : Not Attempted

Chosen Option : --

Ans . Parasitic

551
qLTEr
Holozoic

/5 2.
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Automatic
v &3
Taarferd
Saprotrophic
4.
EREILE

LA
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Q49 Find next two letters that follow in the series:
ABBDEEEHIII _ ...
e # 3 A T @ R A 2
ABBDEEEHIII _ ...

Ans X1-II
X277
PR )
v IM

Question ID :9888374827
Status : Answered
Chosen Option : 4

Q.50 The headquartem o the Intan Council of Apnouttural Ressarah (ICAR] is located at
AR i e Al (AT s apl e R

Ans v New Delhi
. Flé' _

Bengaluru
EEIGES]

e}

Dehradun

X&W

Mumbai

X4'ﬂa€

52

Question ID :9888374740
Status : Answered
Chosen Option :1

Q.51 A chersarsd reaction @ callad

martion whes beat i g me
Tan mates stEfea A 3on Bead 52

firaEn & @wn gy
Ans v exothermic
- FeaTad
combination
X2
X3 endothermic
FEHTRATHT
X 4 decomposition

Question ID :9888374767
Status : Answered
Chosen Option :1

Q.52 The comiaction md expansion of the walls of food pipe is called o LT
A A T fE A A e afey F1 A f
Ans v Peristaltic
AT

) Gastric
STol-gaer
, Oscillatory
grerett
Diastolic
xAmﬁﬁ%m

e §

x

Question ID :9888374772
Status : Not Attempted
Chosen Option : --

Q.53

C:/Users/Nikhil/Downloads/Qp%20(4).html
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Which of the following 1s NOT a cause of air pollution?

- Mining operations
XA gop WU T FRF AL 52

. Acid Rain
FFECIT aur
Agricultural activities

3. - -
Burning of fossil fuels

e Serel T STl

Ans

v

x

Qp (4).1

Status : Answered
Chosen Option : 3

Q.54 The Supreme Court of India came into being on:
ARd FT 3Tadd ~AAmey 30 & #Af8daca & 3mr om:
26% of Jan 1950
51 Hary,

26 Setadr 1950
28% of January, 1950

28 SA«adr 1950
15% of August, 1949

15 IIEd 1949
26" of November, 1949

4,
26 siday 1949

Ans

- &3

X 3.

Question ID :9888374758
Status : Answered
Chosen Option :1

Q.55 The provess of splitting water molerule by lipht soerpy i ralled
TE = # TR & v & Fmer dy sfie ad

X 1 Radiolysis
 FAfRoT-3TeesT
Electrolysis
> 2.
facgd-3raes
5 Photolysis
ThTA-AIE A
x 4. Thermolysis
aTT-3799ca

T aww B
Ans

Question ID : 9888374768
Status : Answered
Chosen Option : 4

Q.56 Tha sty viluss of s i oie s B 8 s o1 8 asg e deossd fuoa wie B 1120 il
Eu 1144 ropemctin ey, Find e amiavani
ok A0 oFT ST 1T 1 4% T L0 91 5 0 & ol 3 970w o #5010
{120 T 38T 11 04 = B Ao ey o)
Rs.560
1.
x . 560
Rz 800
2.
v . 800
Rs.160
3.
x . 160
Rs.600
4.
x . 600

Ans

Question ID :9888374810
Status : Not Attempted
Chosen Option :--

Q.57 Which one of the following names 18 NOT related to economic theory?
et # @ ta-ar a9 il @eia @ gefaa @81 87
x 1 Thomas Robert Malthus
oTHE A Alerd
David Ricardo

R RPN

C:/Users/Nikhil/Downloads/Qp%20(4).html

Ans

x

Question ID : 9888374780
Status : Answered
Chosen Option : 4
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x 3 John Maynard Keynes
St TS e
Niels Henrik David Bohr

l4'3ﬁw§:ﬂﬁ$%ﬁ‘5’aﬁ

Q.58 an arichs was sodd for Ris 2500 wi 3 rodit of 25%. What wes the amoumt of feoii®
TS I, 2% TR ST 2500 R A A vk e o e iy
Ans . Rs. 1000
1.
o . 1000

Question ID : 9888374811
Status : Answered
Chosen Option : 2

Bs. 500
2.
l ., 500
; Bs 250
3.
x . 250
; Bs. 2000
4.
x ., 2000

Q.59 13 ik ciem ok i ek b 20D B B0 imanY dekh Wil 10 ik DEER %0 00 ke Mk ket skt
L5 A o Y 2 T 0 B e M 3B R e o A S F Question ID : 9888374802
ey Toeped o 4 Status : Answered

Ans 3 1. 40 Chosen Option :2

W 2. 60
X 3.50
X 430

Q.60 An assertion (A) and a reason (R) are given below. .
Question ID : 9888374855

Assertion (A) : The sale of mobile phones has increased manifold in Status : Answered

recent times. Chosen Option : 1

Reason (R): The craze for e-commerce drives mobile sales.
Choose the correct option.

A T Fue (A) 3 TF FROT (R) AT 4T B

HYUA (A) : A5 B 1 TG A grer & Gal # &5 aper

& g% &1
FROT (R): $-HAT F 9 ol o Alarsa 1 &6 # Jo0=
A Acg &I gl
w8 faweq ol
Ans B 1

Both A and R are true and R 1s the correct explanation of A
A 3T R @l @cd § 3R A & H8l $R0T ¢
A 13 true, but R 13 false
“A T ¢, fheq R 71ed &
A is falze, but R is true
" A e 3, ffed R ¥ &
< 4.
Both A and R are true, but R 1s not the correct explanation of A
A 3R R cldl @ca &, feq R A T @& FROT <61 ¢

Q.61 Who was sworn in as the Governor of Odisha on the 21%t of March 2013?
21 AT 2013 &7 Fae JfSer & Toadra & &9 # 99T &

Ans Shr1 Keshari Nath Tripathi

Question ID :9888374757
Status : Answered
Chosen Option : 2

K S e BS
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31 TH. 9. SHR
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4'&& TH AT Fifdeg

<
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Q.62 X 15 the son of Z. Y 15 not a son of Z. K 15 Z°s wife. X 1s the brother

of Y. How 13 Y related to K?
XZHMATEY Z FTdeT gt gl KZ Fracr g1 X Y

F A &1 Y K T T 8?2

Ans Daughter
««aﬂ_,rgh
Xs'?ﬂ;n

Grandson
X 4
EIGI

Question ID : 9888374838
Status : Answered
Chosen Option :1

Q.63 In economics, a very deep, long and painful recession is called .
3T A §gd aed, ol RGeS A FT el SAidr gl
Ans v Depression
- 37adTG
Deflation

Fgehifa

Inflation

wIfr

Depreciation

Hederd

X2

X3

X 4

Question ID :9888374781
Status : Answered
Chosen Option :1

Q.64 Silicon is a commonly used i
fafererer 3MAGI 9T gg=d glel aren el
Ans i-
v Semi-conductor
e-dTeleh
Conductor
X 2.
dlelsh

Amplifier

[UFEeC L riy

Insulator

><4”ﬁaqgﬁpfhﬁ

K]

Question ID : 9888374765
Status : Answered
Chosen Option :1

Q.65 Find the mode of the following data:
110, 80, 70, 90, 120, 90. 0. 70, 60, 80
fre=Aferf@d siferst 1 agere ATd HIfew:
110, 80, 70, 90, 120, 90. 80, 70. 60, 80
Ans « 1. 80
#2110
< 3.90
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Question ID :9888374818
Status : Answered
Chosen Option : 1
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X 4120
.66
a Cc—mplete the am]_logy_ Question ID :9888374821
IfD=17 F =" Status : Answered

e & 9 FLI

A D =178 arF =72
Ans x1_33

v 2 37

X 327

X 423

Chosen Option : 2

Q.67 Froma the gives opticas, find ihe rational mamber hefveen the n.ng:i and {4

[ o Teer T 8 4 24 Y o6 oh ST AT Sl oTa O At
Ans 11

XLE
v
F 3

F 3

alm >l 5|y

Question ID : 9888374788
Status : Answered
Chosen Option : 2

Q.68 “Sahitya Akademi® is mainly dedicated to the promotion of:
HIfged Al AL &7 § 38 Ylchlg oo & Tolv JATd &:

Ans Drama
1.
x ATceh

Music
F S
EEl]
Literature

Hifecd

Dance forms

x4'ﬂ?~£ra"ri%lﬁ’

v &

Question ID :9888374743
Status : Answered
Chosen Option : 3

Q.69 Tha wwas af tws sumibe tnasgiss we L1 g wed SF s me 1E e pedan of L 1 nasgle =
LLE o, then e moedan of fhe 2 erale wil be
at wee gt b S gemr oz ww ol e et eh ) oy o g it
LLu HI B, st Prga i Rl g

Ans 6.4 m

X1
6.4 HI
54m

84 H

5.8 m
3.
v 8.8 HI

92m
9.2 Hr

X 2.

X 4.

Question ID :9888374816
Status : Answered
Chosen Option :1

Q70 ‘Biosphere Reserves’ are most appropriately described as:

‘Sadse IRET &7 &1 g9 T Garr €

Ans x Bio-gas production sites
1.
IRN-3 3cdIGe T

C:/Users/Nikhil/Downloads/Qp%20(4).html

Question ID : 9888374751
Status : Answered
Chosen Option : 3
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x Mineral deficient reserves

2.
@feal $T FH arel 9s]
e Learning sites for sustainable development

gad e & Feaaa
Sites affected by deforestation

4'a?ﬁ$raﬁ:’|éﬁqa¢rﬁam

Q.71 : L -
The ‘Kud danie 13 a famous dance form of: Question ID : 9888374744
PG oAcd’ AG & T WiHG oIcd T Status :Not Attempted
Ans Madhya Pradesh Chosen Option : ==
F R
He gear
f , Jammu & Kashmir
SIFH-HHR
X3 Odisha
Jifsem
Rajasthan
X 4. 1
LTad-FAT=d
Q72 L . . .
If- =0.02314 then =2 Question ID : 9888374785
43.21 0.0004321 Status : Not Attempted
1 1 Chosen Option : --
afe —— =o0023148, @ —— =2
43.21 00004321
Ans X 1.23.14
v 2 2314
X 3.0.0002314
X 42314
Q.73 Two virmetie afasll, Tond 5, contimg Re. 15 dod e, 35 per b noapcnivel v e seend 1 188 s _
l4- B The sbsed vasiely & 1ok 6 B 37 [ kg Wit it the sppeouimns pealh perceniagst Question ID :9888374812
AAE F e Terrl 7 #7 & TaaF P des EAar 05 Pl ¥ vFE T EAE W s E Status : Not Attempted
TRTET o P See s St feere o 10w wiE Fecelt oy g7 21 i weee B o Chosen Option : --

weE s b B
Ans J 1. 20%

X 2.33%
X 3.25%
X 4.38%

Q.74 .7
What 1s . th of 60% of 807 Question ID :9888374798
Status : Answered

7
Eﬂﬂ?ﬁﬂ%iﬂamgﬂll ? Chosen Option :1

Ans o 142
X 2 48
X 3.28
X 4.56

Q75 ' - ' '
_ isasemi-luxury tourist train. Question ID : 9888374784

Tch m—ﬂﬁ'ﬂ' e a?[ %] Status : Not Attempted

Chosen Option : ==

Ans
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Royal Rajasthan on Wheels
el o A Sted
X 2. Deccan Odyssey
Seha JfHT

\f Desert Circuit

s

F

Q.76

Ans

3.0 0.3 x 0.03 x 0.003 =2
A 1.81x107*
X 2.81x107
< 3.81x10"5
v 4 g1x1078

Question ID : 9888374789
Status : Answered
Chosen Option : 4

Q.77

Ans

so1ls are also known as ‘regur’.
I - - 2 xS L

Alluvial
1.

Black
v )
FIel

Desert
HAEEAE T

Mountain

qdd

X 3.
54

Question ID : 9888374742
Status : Answered

Chosen Option : 2

Q.78

s bl B b odowser of o o sy mea e ahoa b 8 ek oo comaer § urmacs al TRt el T

o o ey g S By vitey o) ol o sk e e e e w000

Question ID : 9888374800

all goods and services produced or sold
Tsft aEg3it 3T A3t & Scaree rvar @t
W2

all the finished goods and services produced within a country
e oo & ofiaT g3ft R Aver 3T & o Fansi
53

all intermediate goods and services produced or sold

sl Aegad! aeqgail 3 AG3T & Scarge 3rar sk
F 3

botth nrisrmeediate and final goods 2nd sevices produced within @ counary
mr Fm ¥ e maht ot din A gt A o A sl d ok s

Ans X' 1 298 Status : Answered
Chosen Option : 2
v 2. 300
X 3312
X 4.256
Q.79 ‘Tt e tebst p progiel ge aptioa Do e Ballening _
P i she dotal valoe of derinp mepectfe pericd Question ID : 9888374735
Tt @ & gl she e gl Status : Answered
T W 3T D i aerfie i b m o e b Chosen Option :2
Ans x 1.

1l

Q.80

Ans

Tha e of nou-rooperficn nirremact doogp eedon stugpls did s smyvooge
Fielad e & dher iz Avgdor wEiEE ool 1 ug wifie et o

C:/Users/Nikhil/Downloads/Qp%20(4).html

Question ID :9888374746
Status : Not Attempted
Chosen Option : -
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the boycott of civil services.

1.
weiae A3 w1 SigsEr|
the boycott of foreign goods.

x

2.

v popular violence.T gfgvehiy|
3.

A Sl

the surrender of British titles.

x4ﬁﬁ3r3cnﬁnﬁa?rqﬁalml

Q.81 Wik riathainn el apevilen - <, o il = i saprenniad by O, P, U ad § sespoctivaly, Qen
T T vy o

AREEP TN & ki
nf aficfer et -, 4, @ st o esnn G, P, U omm S oeErn Breftr fen

o Bt ESERTU IO & s ann

Ans x 1.0
Vo2 1
X 3.20
X421

Question ID : 9888374831
Status : Answered
Chosen Option : 2

Q.82 1&mwmzir2d beva can do awirk n 20 doayw. Ja Baw ey darp, wall 14 men aed 12 by
g orkng B diod work!
12 srEst m e ek e wean e 1 R A e e @) 2a aeeh st oo ek Rivest o
TR (e B & e A

Ans x1_10,
X 212
X 3.15
s

Question ID : 9888374801
Status : Answered
Chosen Option : 4

Q.83 The Buddhist shrine “Temple of Tooth’ 15 located 1n:
dtg drelreans ‘giag &1 AT a8l g &
Ans X1 Malaysia
Helferam
Sr1 Lanka
ol
AfTeiehT
Nepal
53 P
GEIH

China
we Gin]

Question ID :9888374762
Status : Not Attempted
Chosen Option : ==

Q.84 Tha mamber of boyw n & bim et dis sty pomi s buscs e mumber of pole On the way, whe
LS oy gol dones vl b3 gich il Ui bin, U mawabor o Doy aed mils Iocsise aopial B
s hnl_u'lmtuli.d‘uﬂl-:dﬂlp:-:\.‘?

et S o o o A ezt o s wefal o s A asph B e A o e
A e iR 90 A g e L TEEE AR A1 e R e e ) e
mﬁwﬁnn&ﬁmmﬂ"

Ans x 1. 45
X 2 40
v 350
X 4.55

Question ID : 9888374786
Status : Answered
Chosen Option : 3

Q.85 Wt will e the vahes of S sxpravaion if s ngoe '~ and
M_FLTnd=6
i - w e T o wara sree # e BT ame, o R wr Ao g
IM-F U6

Ans x 1. 37

filet//IC:/Users/Nikhil/Downloads/Qp%20(4).html
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Question ID : 9888374832
Status : Answered
Chosen Option :2
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X 2.20

X 3.0

ST

Comprehension:

Consider the following information and answer the questions
based on it.

Y 1s a housewife and her husband is an Inspector. Their sons J, a
teacher and K, a banker are married to a nurse and teacher
respectively. I's son P, an Inspector 1s married and has 2 sons. K's
daughter Q, a software engineer 1s married and has two sons. All of
them live m a joint family.

farafaf@a st W R & 3R 39§ 3R W wear
¥ 3ea I

Y & Jifgol § 3R 3ue ofd Seee Bl e S ) ™
et 3 K o d97 § Sadr adl A uh J9 3T
vs fAferwr @ g% 81 J @ faarfga S P oUs SOEA E,
Grae 2 9¢ &1 K &7 faarfga 38 Q e @igeday ST
¢, foas ot 9 g1 3 @l v wgea 9Ran A7 ®d ¢l

SubQuestion No : 86

Qéa What is the male : female ratio? Guostion b - 9358374540
TEW : AR FT 3T FT §? Status : Not Attempted
Ans 51 4-§ Chosen Option : --
K211
K 3.8:4
Wig:-s

Comprehension:
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Consider the following information and answer the questions

based on it.

Y 1s a housewife and her husband is an Inspector. Their sons J, a
teacher and K, a banker are married to a nurse and teacher
respectively. I's son P, an Inspector 1s married and has 2 sons. K's
daughter Q, a software engineer 1s married and has two sons. All of
them live m a joint family.

farafaf@a et W TR & 3R 39F 3R W weal
¥ 3ea I

Y v Afgel § 3R 3@ o9fd sEeR B 39 ¢ J U
et 3 K v dor § Sadr andl FAa: vF a9 3
ve fAferr & g% §1 J @ faarfga der P oUw g E,
Brae 2 3¢ €1 K &7 faarfga 38 Q e @fgeday S
¢, foraes ar 9¢ €1 ¥ @l vF Hgea TiER 7 ©d 2

SubQuestion No : 87

Q.8 Which of the following combinations is a couple, from the given )
_ _ Question ID : 9888374842
mformation? y Status : Not Attempted
& M FHEFE F HUR W I 5 s § FAar Chosen Option : -
faarfga st §2
Ans _ _  Teacher — Teacher
.

x Teacher — Inspector
2.
fifaterr - Svdeae
X 3 Housewife — Banker
gl - AT
Nutse — Teacher
W 4
a9 — felaTe

Comprehension:
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Consider the following information and answer the questions

based on it.

Y 1s a housewife and her husband is an Inspector. Their sons J, a
teacher and K, a banker are married to a nurse and teacher
respectively. I's son P, an Inspector 1s married and has 2 sons. K's
daughter Q. a software engineer 1s married and has two sons. All of
them live m a joint family.

farafaf@a et W TR & 3R 39&F 3R W wear
¥ 3ea I

Y v Afgel § 3R 3@ o9fd sEeR B 39 ¢ J U
et 3 K o d97 § Sadr adl A uh J9 3T
ve fAfer @ g% §1 J @ faarfga S P U g E,
Grae 2 9¢ &1 K &7 faarfga 38 Q e @igeday ST
¢, fo|s o1 9¢ g1 & |l ve wgea aiEn A w®d ¢l

SubQuestion No : 88

Q8 O '
s Q8 grandmother 15 a Question ID : 9888374841

Q I Eﬂa Uch §| Status : Answered

Ans Housewife Chosen Option :1

V&1 e
Nurse
T

Teacher

BRI Ea)

X 2

P

Q.89 Which one of the following belongs to India’s inter-planetary mission? :
Aa . & & @ Question ID : 9888374778
Ffaad AT AR SIRACHT TR 3 3 T &7 Status : Answered

X1 S Chosen Option :3

Ans

alel
. Juenu
& 2. &1
. Mangalyaan
FHITAATeT
ANUSAT

T

e

v

/5 4

Q.90 i icati i i
Workbook, in a computer application, is basically related to CQuestion ID : 9888374774

%Lél“_t{ " dﬁthtith HHAIR W 3—3@ REIDGR 61?'?[ ?: Status : Answered

Chosen Option :1
Ans  of 1. MS Excel P

/< 2. Adobe Reader
/< 3. MS PowerPoint
2 4. MS Word

Q91
Question ID : 9888374817
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If cosd = 4;, secO + tand =7

Ans

o ¢c23=4/5§, dl sech + tand =2
X 2.1
X 3.3
X4 4

Qp (4).1

Status
Chosen Option

:Answered
1

Q92 A person is called computer literate if he/she 1is just able to
Pz o “FPcT TR Fgaldl ¢ G g TETH gl had
Run need-based applications

s g

) Create anti-virus software
UET-aRRE ACaI Fqe A
. Write programs
g forEe o
Hack other computers

G FET B EF B A

Ans

x

x

X 4

Question ID
Status
Chosen Option

19888374775
:Answered
1

Q.93 1f HIFACK = cusded s TYWHNPX fhee whet o SPOSNY coded as
s HUACK 1 WWWHFY F 2 0 313 [0 30 L o SPOON & T8 &1 &
oy f=e s

X 1. GQPPO
v 2. FCBBA
& 3. EONNM
& 4 PSNNO

Ans

Question ID
Status

Chosen Option :

19888374828
:Not Attempted

Q.94 lnth Swreras book, Himd Searaj (1308, Mishasim Cendby dachred thal Hae Bribd nule iz lade
A o ety bl
T g B e (9§ s S e R iR e A R s
ratraer e o o

v with the co-operation of Indians.

" et & wgE W)
by using force.

2.
el AT ganT|
without the co-operation of Indians.

" Rt % FEET & )
by other foreign powers.

" st fagah e GanT|

Ans

Question ID :

Status

Chosen Option :

9888374747
:Not Attempted

Q.95 Tihes inanse of ket B nanh Higrets of Raaiambore Sational Fark, Bajastba that died n
Smpsn JOR was
paEFe & oty duew ek F afle afte Bew e irm s pe
T, mA # Al ani =)

Sita
x1'1ﬂﬂﬁT
W2

Ans

Machali
HSOT

Sundari

xB'ﬂaﬁ
p

Jhumroo

o

Question ID
Status
Chosen Option

19888374739
:Answered
12
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Q.96 & Eulled gt pieirk 5 Usfoc 60 bin bviin. P, Sl il Dhaiin, oy e eitan 750 .
et peveRy. AT Mok et |30 o Wi Shaints, Moo ppiocki Aot Resrn geet Question ID : 9888374794
vk Tl TR 32 T, AR N A A AT O R S0 R TR A Ef ) i Status : Answered
T o et e ey o0 e o vy ot S e P i Chosen Option : 4
Ans x 1.150
& 2300
X 3420
v 2210
Q.97 i ; ialati ;
15 the highest legislative body of India. Question ID : 9883374756
AT &7 gafea fauarlt Ha g Status : Answered
Ans x 1 The Cabinet of Ministers Chosen Option :2
X2 The Supreme Court

ITOdH SRR
X3 The Election Commission
IGEIEGESIE
The Parliament
v S
Hdqg

Q.98 Whils péiliag a lnat derunmel = MS Ward, the conbunbion ke wad for copyag o pasiog
et wrw renpecirvely: Question ID : 9888374776

w A m & s s wemtin v s ol e e oo o e Status : Answered
FR W HAAE FTA T e Chosen Option :2

Ans 1. Ctrl+¢, Ctrl +z
W 2 Ctrl+c, Cirl +v
K s Ctrl+x Ctrl+v
X 4 Ctrl+v, Ctrl + ¢

Q.99 A ik s iedliiy Wi meTamed T8 100, b0 Ohelk Bis iy Deadinn Boe 930 How sideh did Bé
i BB The it Question ID : 9888374797
s e ik A o dom. o ol diy b, Bt e A g0 et gl e et g Status : Answered
T T T e Chosen Option : 3
Ans X 1.1300
X 2.880
v 5700
X 4810
Q10
0 Question ID :9888374843

Status : Not Attempted
Chosen Option : ==
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017
A statement followed by some conclusions 1s given below.
Statement: ABC Tuitions promise excellent teaching by excellent

teachers for sure success.

Conclusions:
Ans Neither I nor IT follows
4‘ T 15588,
@ | & areld alar §

52yt Only conclusion I follows ollows from the

given stohd ol [o1ShY | qTeTel &hidl &

U 9 Only conclusion IT follows i

/5 3.
=i e fersehd || urere ar gv Soee Rt
GIRT 3 Both I and II follow

Lo 31 Qe arere e 2

Qp (4).html

T 1. 399 A8 dieT cad Tl Frdr $l S3eds (AT
Q.10 Amjad Ali Khan is an Indian classical musician who plays the:
1

FHSE 3ol T U ARG AT GIfige § 9 g9 6
Ans . FT ol P o sraeff 3o 1T g3 ¢

.giﬂﬁmmﬁ'ﬁﬁd‘#ﬁwg‘wmmaﬂmwm
rﬂ-‘lngandolin

p s

. Sitar

/5 3.

Sarod

Vi

Question ID : 9888374759
Status : Answered
Chosen Option : 4

Q.10 Vindir tha Rl tvard” d f i s e preaceig, G T Codiponan® wiy Wil the i b
2 sckingd
AT % wfedw P He Vo O fEd dfEE WS & Am-An SEE |

Ans . may increase or decrease
A d¢ AT °¢ Gl &

be scrapped

T TR ST "WehdT @
decrease

T T §

increase

9¢ FhaT §

> 2.

5 3.

W 4.

Question ID : 9888374782
Status : Not Attempted
Chosen Option : ==

Q. 10 Kabaddi 1s NOT the State game of

ETEE] m?ﬂaﬂfamﬂzﬁ@ﬂaﬁ?l

Ans v Rajasthan
E RS
. Tamil Nadu
& 2. &
Telangana
REEIGH
Punjab
i

p K]

p

Question ID : 9888374750
Status : Not Attempted
Chosen Option : ==

Q.10 The Netaji Subhas National Institute of Sports is located in
sidrell GA TSE st HEAT 7 feerd g1

Ans
C:/Users/Nikhil/Downloads/Qp%20(4).html

Question ID : 9888374749
Status : Answered
Chosen Option :2
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Q.10 Makhs raads 15 purss in 25 mnster. How ey peoes will ehe conmplecs 545 mantas?
5y s e 0¥ 15 e Ol R 45 B A FRE Tl el

X 130

Ans

W2 27

Question ID : 9888374795
Status : Answered
Chosen Option : 2

X 3.25
X 435

ng Complete the analogy.
If MGE = 25, then LJF =?

Question ID :9888374822
Status : Answered
Chosen Option : 1

qreed & gU H|

afg MGE = 25 &, df LJF = ?
v 128

X216

X 322

X 4.18

Ans

Q.10 Adfbar boow maey yease, wall e 171 beeorma Ba. 2 1'J'."lﬂll'\lpl. sompourd misrest?
e AT B T R 1,708 et Pt ol a2 L ghandiis

Ans

x 1 2 years
2y
I%years
1-a§

2

3 years
3ay
2%years

2%@‘{

X2

W3

F

Question ID :9888374807
Status : Answered
Chosen Option : 3

Q.10 How wiveh el S doggdn oL i o be deposin Ka 37000 0 & el pleoswk o mizrsed 402550 pa
8  afier [m st
T FEATEAT TR =000 oF 4. 5% T g% T 37 0 T AFl # 4l . AT 38 o o & 92
it it e g
Rs_ 40330
1.
« +. 40330
Rs_ 3330
2.
x +.3330
Rs 39960
3.
x +. 39960
Rs 2960
4.
X . 2960

Ans

Question ID : 9888374808
Status : Answered
Chosen Option :1

Q.10
C:/Users/Nikhil/Downloads/Qp%20(4).html
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9 ICR stands for

FT 9T AH & B
Intelligent Character Recognition

" vie Faet Refimm
Information and Communication Reader
K2 ot U3 SRR G
Integrated Computer Research
K&ﬁmﬁ$qﬁﬁwi
Institute for Cyber Research

xiﬁﬁagﬁhwaTmﬁ

Ans

Qp (4).pmal

Question ID :9888374779
Status : Answered
Chosen Option : 4

Q.11 T cpaofiem 1o Saaariide i ol of The Lok Seble: io ol L Dot mibihor o Dban beta of

0 e hmass
hmﬁlmiamifmmmanigﬂﬂFrﬂm Hr

i B
Ans . One-half
> 1.
JHrer
Two-thirds

“ g foers

x 3. One-sixth

=

X

. One-tenth

«w

Question ID : 9888374755
Status : Answered
Chosen Option : 4

0-111 Which alphabet will replace the (¥)?
AD,L*,Y

(+) & T 9T FHieg-ar guf 3mwan?
ADL*,Y

XL

X2T

K3 N

vip

Ans

Question ID : 9888374825
Status : Answered
Chosen Option : 4

Q-211 World Sparrow Day 1s observed every year, on March 20 to:
faeg aiftam feaw 9ifd av 20 AT & FERT FACT §:
Celebrate the increasing number of sparrows
xxﬂhﬁﬁ%ﬁﬁ@ﬂﬂﬁﬁﬂﬁﬁﬁl
X 2.
Show superiority of sparrows over other birds

=g 9iEral &1 ga=r A AT #1 Seedr iGae & o
v 3.

Increase awareness for conservation of sparrows

AT & TR g SARRERdl de & T
x 4 Commemorate the birthday of Dr. Salim Ali
3. T Ao & SeAfes & 3qdad A

Ans

Question ID :9888374753
Status : Not Attempted
Chosen Option : ==

Q.1 1% an irrational number.

T IIRAT TEAT R

C:/Users/Nikhil/Downloads/Qp%20(4).html

Question ID :9888374787
Status : Answered
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Ans ( 1 \.’"(2 5 3) Chosen Option : 2

Q.11 1 Eritiim codd, iFem e ealkad Ol £l i cilkad tand, b i ealked alaphed, ideploen 8 ealkad ]
4 ool el sk b clbod e, et whes cun Y b e oy Question ID : 9888374829
v T 0 N 9 W T, e T, (STl 9T g, qnd & A Status : Answered

atx woht 7t gp o oawn koot e e o & =t s e b Chosen Option :2

Ans Rat
1.
A

72 Elephant

gl

Q11 i : ; S
h What will be the next number in the following series? Question ID - 9888374823
0,7,26,63,124,7 Status : Answered

. . h ion :
frafaf@d saer & 3P d@m Far i Chosen Option :3

0,7, 26, 63, 124, ?
Ans X 1.147

X 2.199

v 3 215

X 4187

Q11 : ; I -
. The ‘Fountain of Wealth’® is located in: Question ID : 9888374763

“HI3eced HH dod ?]ﬁ g %_Z Status : Not Attempted

Ans Singapore Chosen Option : ==

v a0 -

P |
Thailand
O
Saudi Arabia

X 3.
ERTANK LG
London

F

K2

Q.11 T LM o [P0 b o6 114 Dot HCF 100k waiti of DO daed BOF a0 29500 aad ore
7 ol di= fraaibers ib 130 el the Flie maiabe Question ID :9888374790
ZrEEaH H AR, I A, W LA b ol A d e \ade m | e amn Status : Not Attempted
3E0 . T SHE HEAn AN REAT Chosen Option : -

Ans X 1.140
X 2.160
v 3120
X 4.190

Q11
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RG]

; Four
2.
>

X 3. F:’VE
qr=T

; Six
X 4
i;:

8 The ozone molecule is made up of atoms of oxygen.

Ans Sﬂ;ﬁﬂﬁréﬂﬁma?_mﬁﬁﬁl
1.

Question ID : 9888374766
Status : Answered
Chosen Option : 1

SAH ¥ FiaT-A1 Sig I el ¥ fared g2

Ans x 1 Crocodile
 HIHTS
Sea Horse

V' g e

- Turtle
T p—

]

Fro
4. g

Kﬁaa?

Qéﬂ Which of the following 1s different from the other three?

Question ID : 9888374834
Status : Answered
Chosen Option : 2

Q.12 Which of the following is NOT a threat to the tiger population in India?

Ans Reduction 1n available prey

X1
39cee PR H HAT
, Connecting Wildlife Corridors

V2 _
dedeita TR &1 HATatel
. Cattle Grazing
X 3.
A3t 1 9
Habitat Fragmentation

4'9165%3?31?%1%@33

O Gafafag & & @ar 9Ra & Tt € e & BT @aw a9 32

Question ID : 9888374754
Status : Answered
Chosen Option :1
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